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Total No. of Questions—22] [Total No. of Printed Pages—7
(Map of India)
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GEOGRAPHY
(Hindi & English Versions)
Time : 3 Hours

Maximum Marks : 75
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Instructions :
(1) All questions are compulsory.
(2) Answer Question Nos. 1 to 6 in about 30 words each.
(3) Answer Question Nos. 7 to 12 in about 50 words each.

(4) Answer Question Nos. 13 to 17 in about 75 words each.
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(3) Answer Question Nos. 18 to 21 in about 150 words each.
(6) Show Question No. 22 in the outline map of India.

(7). Draw neat labelled diagram wherever necessary.

. e faady = 2 7

What is Western disturbanece ?

. TiFia® Fea | 9 e g 7

What is meant by Natural Vegetation ?

T =g == £ 7

What is Green Revolution ?

Name two highest populated countries of the world.

wm & ofieifies @ 1 uRa w1 e w2

Which Indusl;rié] cluster is known as “Ruhr” of India ?

. HAUETS ST H RN 4T £ 7

What is meant by International Trade ?

. HEE] UH WERUE §eerg § e g6l (FE )

Differentiate between Maritime e¢limate and Continental climate.

{Any three).
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8.

12.

. 9EET FE HOAEET w1 S HE S € e

11. EHIET =12 99 F 9e IRy fefa

(3)

T FHiza€Tg geEen 941 &1 A9 Teeean taiEn )

LY

Write three characteristies (features) of Tropical Evergreen Forests.

Ll

Indian Agriculture is called the Gamble of Mansoon. Explain.

10. ‘weEw F 7 wew Tl % sME w § 2 3

What is ‘Region’ ? What are the bases of formation of region ?

Lk

Write the main objectives of Damodar Valley Project.
HLET (Or)
HEE HEATOA TR R YN HHE fEan ) (SR 69)

Write the main problems of Mumbai Metropolitan Region. (any three)

AeHSERE 318 HEE U8y T HEE % e e (w7 7)) 3

Write the causes of the development of Ahmadabad Baroda Industrial Cluster.

(any three).
SY2ET (Or)
T % EEFN H Fed 06 U9 gmEn w1 e R e 9eEs

How are the facilities of Raw material and Transport helpful in Industrial

loealization ?
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(4
qA § FAEE gig H TF F e un S99 fonan | 4

Write any four ways of cha,ckingf + Population growth in India.

iH gi=Ees w1 HeTS 9B HEU| 4

Explain the importance of Railway Transportation.

THT HEE I HIE WN Taegard faiEy | 4

Write any four characteristics of Rural settlement.

Ao Sidl 1 ®H $i4 § WER ¥ HYE] F O ArEE § 7 4

What is the contribution of means of Communication in minimizing the

(Geographical distances ?
4T (Or)
9Ad § TSl 0 (9@ § e FHEsl 1 Seeig S|

Enumerate the main problems of Road Development in India.

. T #AFE Fd wH F favmEn fEEn (31 =n) 4

Write the characteristics of Gujarat Anand Dairy Farm. (Any four)

9=t (Or)
mE & 4 YH Igr | onflw fawmm A ga, W uitRafas w wfegs s s
T2 FHif= |

In Tarai Region land reforms are made for economic development, but there is

unfavourable impact on Ecology. Explain.

Z—12—M—140A1
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15, Hag T W@ wtes £ 3w wdfemmm F @ A AEH 87 5

Mumbai High is well known for what ? What is its contribution in Indian

economy ?

10, FEEEMERE W] 9WE T AEERI 1 Fel 9/ HIEEt |

1..'1

Why Ahmadabad is called the “Manchester of India ? Explain.
HE4gr (Or)
S TAM W AYH F AVE § 7 FLR A F AR FaE

What do vou understand by Cottage Industry ? Write the importance of Cottage

Industry.

20, FITE AT w W@ wueEn fefey

(]

Write the main problems of Paper Industry.
2gat (Or)
T AR & weE 45 ¥ die-seE wam F H0Ed €M kW FR0 F 7
What are the causes of centralization of Iron and Steel Industry in Chhota

Nagpur Plateau region ?

21, I uWE UH e WRE HoAGE] 5 ge s |

i

Compare between the rivers of Northern India and Southern India.

22, FE ¥ TR AAreR # fefaten w1 e o (FE 1)

Lri

(i) 7He 941
(ii) BT AT & FEN
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(iif) Teraniers gt

liv) O399 w9 F91 =7 &9

(v) FI=e H@ele
(vi) T[Z = Zedl

Show the following in the outline map of India
(1) Narmada River

(11) Chhota Nagpur Plateau
(111} Shivalik Ranges
(ivl The area receiving lowest Rainfall
(vl Kandla port
(vi) Jute producing area.

HAGET (Or)

: lany five)

IRA ¥ HAeR gEed W fAefatas =1 2wiEe ;- (18 urE)

(i) Hag FEre

(ii) 535 9% 99 =1 &7
(iii) == #@
(iv) =98 FT &

(v) WE= e (AOTeT)

(vi) SIFT 72 |
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Show the following in the outline map of India : (any five)
(1) Mumbai Seaport
{11) Area receiving the highest Rainfall
(iii) Chilka Lake
(1v) Cotton producing area
(v) Mount Everest

(vi] Konkan Coast.
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Total No. of Questions—22] [Total No. of Printed Pages—7
(Map of India)

M—140B1

GEOGRAPHY
(Hindi & English Versions)
Time : 3 Hours

Maximum Marks : 75

(1) = 9v aiqam ¥
(2) 999 FHE 1 9 6 TF YoiF §Y9 T ST 09T 30 Vil | Bty |
(3) W9 FHF 7 § 12 Th Wodd 99 F1 IO @M 50 VR B e
(4) WA HHIH 13 F 17 9F THF IY9 F IO 09T 75 Weel H Se0 |
(5) U¥H FEF 18 H 21 OF WAF T3 T 391 @047 150 ISl § S
(6) T¥9 FHIF 22 F YRG % GigeRE gEEA 9 FifFd i
(7) FEl VA B, Eeg AWifE o oawEa

Instruections :
(1) All questions are compulsory.
(2) Answer Question Nos. 1 to 6 in about 30 words each.
(3) Answer Question Nos. 7 to 12 in about 50 words each.

(4) Answer Question Nos. 13 to 17 in about 75 words each.
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(53) Answer Question Nos. 18 to 21 in about 150 words each.

(6) Show Question No. 22 in the outline map of India.

(7} Draw neat labelled diagram wherever necessary.

1. THEA F CHEY H OHHEEE

I

Explain Mansoon in brief.

hJ

. OireTad Aqed & Teu gE SEvEs § 1 a7

=

Forests are necessary for Ecological balance. Why 7

3. YEE T o A &2

Pl

What is meant by Migration ?

3, 9 F1 'gEEa 0 = Fw W@ E 2

P

Why Jute is called the “Golden fibre™ ?

s, Wt & arael #t Frrea 58 e =@v & wOEEE ¥ HeEE © 2

[t

How does close proximity of energy resources helpful in the localization of

Industries ?

6. HeETE A 99T W F e §7 2

What is the difference between Port and Harbour 7

tad

Write any three characteristics of Tropical Evergreen Forest.

7—12—M—140B1
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o]

. TR 9= 9 3R ¥ e 2

[V}

The Western part of Rajasthan is dry. Why ?
9, =3 F Tou wmygs siifeas gand fafan) 3
Write the geographical conditions reguired for Tea production.

T A A W oFE aed ® 7

]

Ll

What is Single Level Planning ?

1aa

1. TS AT T W OE WEO % wne faren (F9E 99)
Write the causes of Success of Gujarat Anand Dairy Farm. (Any three)
HL4ET (Or)
T 4 GHR F w1 dW eny featag)

Write any three advantages of Tarai Land reform.

Bl

12, == =R A AT aEie % wE 9 s fatau
Write three main causes of Industrial Clustering in Damodar Valley.
A= (Or)
ST F =WEEE ¥ w5 W U aeeE F gieest & e qveE § 2
What is the contribution of Raw material and Transportation facilities

in Industrial localization ?

£—12—M—140B1 P Q.



=
LY}

14.

.1
£n

16.

7. TERMIG 999 W W9 SEEH F1 9HE HESW F9w0)

(4]
TF 9HEET W Hew wE Hifeu| 4

Explain the significance of Railwav Transportation.

TTE AT T wE =R fagwad fatan 4

Write any four characteristics of Rural Settlements,

uA § SHen farRe w1 3% F w5 5w 39y fafa 4

Write any four ways to check the Population Burst in India.

Mention any four points showing the importance of Pipeline Transportation
HIGT (Or)

TR % WEAl F1 9EvE gaE| (FE =56)

Write the importance of means of Communication. {(Any four)

IR

Write the main problems of Apple producers in Himachal Pradesh.
H94T (Or)

AHEATS T T T T ¥ 33w w £ 2 fafan

th‘[‘ﬁ}'fhat are the aims of establishing the Tamilnadu Gandhi Farm ? Write.

T8.

ST qRA w4 S uwa w1 Afedr § gee St

LV}

Compare between the rivers of Northern India and Southern India.

Z—12—M—140B1



19. ''F@ & d9q g1 ge=Ese|

i

“Water is the Life.” Explain.

LA

20. @9 TH HeHR IENT B 37 GaEU |
Distinguish between Cottage Industry and Small Scale Industry.
=T (Or)
Write the causes of localization of Bhilai Steel Industry.
21, WEEH "@WE A OHETS SE H M9 R R SR ¥ 7 o wihen) 5
What are the causes of localization of Paper Industry in West Bengal ? Explain.
Hyg=m (Or)

Write the main problems of Iron and Steel Industry in India.

P
1

4G & HEER "Ega § efEiEd = oseis o (9 9fEm)

un

(1) = F7

(i) Teesii—==12 T
(iii) =19 SEF 499

(iv) 799 F9 997 51 &3
(v) ST T o
(vi) 75T F=T 1

£—12—M—140B1 S ) 7
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Indicate the following in the given outline map of India
(i) Ran of Kachha

(11) Delhi-Chennai Airway
(111} Tea producing area

(iv] The area receiving lowest Rainfall

(v) Kaziranga National Park

(vi) Narmada River,

HIET (Or)

4RA F HomEn metes § frefafes w5 2w o (5 aim)

(i) SHTeFehTaT
(ii) Torai=rem =4

(iii) feeelt § T Tommd
(iv) TS J90

(v) =2 T

(vi) B% H=E9 &=l

—12—MN-—140B1
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(7)
Show the following in the outline map of India : (any five)
(i) Kolkata
(ii) Shipkila Pass
(iii) Delhi-Mumbai Railway route
(iv) Karakoram Mountain
(v) Mumbai High

(vi] Mae-Mohan Line.
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Total No. of Questions—22] [Total No, of Printed Pages—7
(Map of India)

M—140C1

GEOGRAPHY
(Hindi & English Versions)
Time : 3 Hours

Maximum Marks : 75

(1) =+ 959 #fEd £
(2) R HEE 1 W 6 9% T Y¥ w7 TR o9 30 ¥Rl | Eiied)

(3) YT FEE 7 W 12 TF W% WY 1 SO o S50 Wiesi H e

(4) T FEE 13 § 17 9% ToiE Y99 &1 3¢ WO 75 veal H aifed |
(5) WER A 18 W 21 U% Wei® YYT 1 ST OTH 150 ¥esl H ey |
(6) T HUE 22 ® UNE F HiuER uEtes § sifwd st
(7) == SETEE B, W AmitEg 99 a9

Instructions :

(1) All guestions are compulsory.

(2) Answer Question Nos. 1 to 6 in about 30 words each,
(3) Answer Question Nos. 7 to 12 in about 50 words each.
(4) Answer Question Nos. 13 to 17 in about 75 words each.
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(5) Answer Question Nos. 18 to 21 in about 150 words each.
(6) Show Question No. 22 in the outline map of India.

(7) Draw neat labelled diagram wherever necessary.

1. HEH F 7 A" £

Bk

What is meant by Weather ?

2. TE= Hyed % v fEe whmm =9 = 2 s £ 2

What percentage of Forest area is required in order.te maintain Ecological

balance ?

3 2
What iz called Settlement ?

4. SHT FH 9 7 awEm §2 2
What is meant by Zooming Farming ?

5. FE HT ACEAHE & F= AwE 22 2

What is meant by Industrial Reliance ?

6. =R dqed fwd Fed &7

wd

What is meant by Balance of Trade ?

Lt

7. T H A sEE ot ® st o) s s w6 d9dy F mwe e

In India Mansoon is the blessing and curse as well. Explain this in brief

Z—12—M—140C1
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=EE = a4 % T sEves it s fafen

0

bad

Write the required geographical conditions for Rice cultivation.

0. Foy HfeddT TEEeEr 59 ®i Teviwae fdrEe) (13 99) 3

Write the characteristics of Tropical Evergreen forest (Any three).

10. g8 A ey F Ay fafew (FE 99)

Lid

Write the characteristics of Macro-region. (Any three)

11. SHIEL =T 4 8 g g oy fEfen

141

Write any three advantages of Damodar Valley Project.
g4 (Or)
fearae waw O O9 W Temw sfus g g 3712

Himachal Pradesh is the leading State in Apple production. Why ?

i

12. 9FA F ITENTE gUens % g g4 FE a9 S9d fargy |
Write any three ways to solve the Industrial problems of India.
|94t (Or)
W?Wﬂﬁmﬁﬁmﬁﬁﬁmﬁmmﬂm??

How does availability of raw material and transportation accelerate in localization

of Industries ?

Z—12—M—140C1 BT Q.



(4 )
13, T afear i favmad fafae) (#1E 51) 4
Write the characteristics of Rural settlements. (Any four)
14, FEIE AR F FE 9 TR fatan 4

Write any four causes of Population migration.

15. I91 9iitggd o1 " eat | 4

Write the significance of Railway Transport.

16. TETE TEMW ¥E U9 e ¥ TR A= U 4
Distinguish between National Highways and State Highways.
44T (Or)

Write four characteristies of Indian Foreign Trade.

17. T TR wew o T ¥ faeet w1 s9EEn gi o UFA g 5= 3E me
M E? 4

What steps have taken to check the population growth of Delhi in the Planning

Scheme of National Capital region ?
#Hgar (Or)
The Damodar river is called The River of Sorrow of Bengal. Why ?

Z—12—M—140C1
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18, BTETS W1 9 A9 I 2H Tl W B H+?
Manganese is called Jack of all Trades. Why ?
=Hgat (Or)
s § Ty = SEn fawner € T T grw SR W g € Y

Despite of highest number of Cattles and Buffaloes the Milk production is less
in India. Why ?

L

19. ST YA w4l Gl 9RG %1 Ffedl 3 ger &g |

Compare between the rivers of Northern India and Southern India.

20, =TT EM W T GEEG fEian |

LN

Write the main problems of Sugar Industry.
Igar (Or)
q7d d 79 IAM H SAE & I94 eEg |
Write the ways for the development of Dairy Industry.

21. 9AG H UZI-THEA I 1 999 FIE]

|J|

Describe the Petro-chemical Industry in India.
FHgar (Or)
I gEW § S SEm wfas fawtas € =7
The Sugar Industry is more developed in Uttar Pradesh. Why ?

7—12—M—140C1 P.T. Q.



(6 )
2. 90E F SR 9FEe § feafaras F e o (R 99)
(i) I T &
(i1) TegmEmZZad
(ifi) 234° I A&
(iv) F9E F1 43
(v) FHZT "=
(vi) FaF w9 99 H HA |
Show the following in the outline map of India : (any five)
(i) Gold area

(11) Vishakhapattnam

(iii) 234° North latitude
(iv) Cotton growing area
(v) Narmada River
(vi) The area receiving lowest Rainfall.
94T (Or)

9N ¥ AHHR WAtEE § efatEs w5 S o (FE 1)
(i) o= aag

(ii) E9\ F1 GEl

(iii) T =1 49

Z—12—M-—140C1
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(iv) BT AP ] waR
(v) TTEET 951
(wi) EEE 3 I3 Yo

Show the following in the outline map of India

(1) Vindhyachal Range

(i1) Gulf of Khambhat
(iii) Rice producing Area
(iv) Chhota Nagpur Plateau

(v) Godavari River

(vi) Mumbai-Chennaij Railway.

Z—12—M—140C1
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